ZHRE[R

ERVEDR 200FEET )

T8

| BSED |zo19 £6 B 23 E||

IEEEREDDEEEE

B HSEIBIERS: 9:25 HERITIFR: 10:55
1 2 3 4 5 6 7 8 5
BIIR=AR=ILDZT 0 0 0 0 0 0 2
BRI AR =R —ILIZTA 2 0 0 0 1 0 X 3
’ F mOF
BJ11BC B8 B
AR 1IA B = b5 (1)
REFT
=217
847 KUSLHB]
EogS HSRIBISERY: 12:09 HASR TR 13:30
1 2 4 5 6 7 8 B
IR =R —ILD=>TB 0 0 0 0 0 1 5
BIINRX=AR—=ILDZT 1 0 0 0 0 0 0 1
®’ F B OF
ART9)1IB A FELW
B)11BC JH £ 2K PN
AREFH]
=217 FELWLER]
— 8217 o8] Fi5. FEW@AER]
$E3ME A SRR AT
1 2 3 4 5 6 7 8 5
’ F B F
AREY]
=217
— 217
FARS SRR HERTIERB:
1 2 3 4 5 6 T 8 B
®’ F B OF
AREFH]
=847
— 847




